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Name five prime numbers between O | Find all the factors of 36.
and 15.

2,3,5,7,11,13 1,2,3,4,6,9,12,18,36

*Students should know that a
prime number has exactly 2
different factors: 1 and itself. This
is why 1 is not a prime number.

*Students should know that a
factor is smaller than or equal to
the product.

Write three multiples of 8.

8,16,24...

*Students should know that a
multiple of a number is equal to or
larger than the original number.
The original number is always a
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Find five multiples of 17.

17, 34, 51, 68, 85...

Students often confuse the term
“multiple” with the term “factor”.
As 17 is a prime number, it only
has 2 factors, but an infinite
number of multiples.

Explain why 1 is not a prime number.

1 is not a prime number
because it does not have two
different factors. 4
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Write the prime factors for the
following numbers:

10: 25
9: 33
15: 3¢5
7: 1 e 7/
21: 3 ¢ 7

!

Is the product a fraction in simplest
form? How can you use prime factors
to justify your answer?

!

If you expand the numerator
and denominator into their
prime factors, you have

5e11
20202020243

As there are no factors shared
between the numerator and the
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Homework!

Greatest Common Factor

A0 #HA(/B+T)5"6(.16TH) SHOC <+l ; #+OKE6 BA) (+"#+T)5"6 (1" (/014" 64T/0*1"#+:" 946Tk
"HH"P611/>+0I0C3 <+ (.

b

27 48 36 45
& :
i
i
i
i
AAAAAAAs :
The GCF of 27 and 48 is . The GCF of 36 and 45 is
60 72
80 100
The GCF of 80 and 100 is ' The GCF of 60 and 72 is
]
]
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Exit Ticket

Name Date
Exit Ticket
Name Date
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